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COMPUTER SCIENCE SSC-II
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE:

Section—A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.

Deleting/overwriting is not allowed. Do not use lead pencil.

Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

M In ‘C’ a variable name CANNOT start with™
A A number : B. Underscore
C. Small alphabet D. Capital alphabet
(i) Which of the following functions all C-programs MUST contain?
A main() B. system() C. scanf{) D getche()
(i) What does a small circle represent in a flowchart?
A. Start/stop B. Decision C. Processing D. Connector
{iv) Which of the following is the symbeol for AND operator?
A Il B. & C. && D. i
{v) Which of the following is required to write a C program?
A Compiler B. Text editor
C. Debugger D. Interpreter
(vi) Which escape sequence is used to move cursor to the beginning of current line?
A \a B. \r C. =n D. \b
{vii) Which of the following HTML tags does not have a closing tag?
A <tr> B. <br> C. <li> D. <centre>

(vii)  The case block ends with:
A end seiect B. end case C. break p. case close

(ix) = Which of the following is also called counter loop? -
A do while B. while C. for D. continue

)  URL stand for:

A. United Resource Link ‘ B. United Resource Locator
C. Uriform Reference Link D. Uniform Resource Locator
(xi) Karnaugh map is a pictorial form of: '
| A Logic circuit B. Boolean function
c Truth table D. Logic gates
(xii) A loop is a loop with in ancther loop.
A for B. while c.’ do-while D. nested

For Examiner’s use only:
Total Marks: 12 .
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Time allowed: 2:40 Hours

COMPUTER SCIENCE SSC-li 3 2{

Total Marks Sections B and C: 43

Answer any hine parts from Section ‘B’ and any two questions from Section ‘C’ on the separately

NOTE:
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.
SECTION — B (Marks 27)
Q.2 Answer any NINE parts. The answer to each part should not exceed 3 to 4 lines. (9x3=27)
(i) List the order of precedence of operators in C-programming.
{ii} Find errors in the following code?
inta,b=1.2;
for {p=1; b<=10; b —=);
printf("\n %d", b);
}
getch();
(i) Construct truth table for the following Boolean expression F =abc + abc +abc
(iv) Compare while & do-while loops.
() Write down the use of following functions in C-programming.
i) getchar{) ii) gets() - i} getche()
{vi) Rewrite the following program using switch statement:
void main{void) ‘
char grade; ‘
printf(“\n Enter the grade of a student from A-C™);
ifigrade== ‘A’ || grade =='a")
printi("\n Excellent™);
else if (grade=='B' || grade=="b")
printf(“\n Well done”);
else if (grade=="C’ || grade=='c’}
printf(“\n poor performance”);
else
printf(“\n Invalid Letter”);
getch();
} .
(viy ' Define URL and web hosting.
(viiy ~ Draw and name any three logic gates.
(ix) Write a program which prints a 2-digit number in reverse order.
(x) Evaluate the following expressions:
: {a) 7*(3+4)>=50&&7*(3—1)<50
(b) 1%*5+5%2*3~7
(xi) Describe any three rules for specifying a variable name in C language?
(i) Create an HTML code that contains a graphical hyperlink.
{xiil) Determine the output of following C program:
int n, sum=0;
for (n=1; n<=10; n+=2)
{
SUM=sum-+n;
printf(“%d W', n)
} .
SECTION - C (Marks 16)
Note: Attempt any TWO questions. All questions carry equal marl;s. (2 x 8 = 16}
Q.3  Simplify the following expression by using-karnaugh’s map. ' (5+3})
F = ABC + ABC + ABC + ABC
also construct logic cireuit for the simplified expression.
Q.4 Write a program to compute and print sum of the following series using for loop statement. (6+2)
X+ X A+x + et X"
also write down its algorithm.
Q.5 Explain any four types of websites in detail. (98)
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inta,b=1.2;

for(b =1; b<=10;b - -);
printf(\in %d", b),
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void main(void) S
char grade;

priftf{"n Enter the grade of 2 student from A-C");
ifgrade=="A' || grade =="a") :
printf("\n Excelient"):
else if (grade=='B' [| grade= ='b")
' printf("in Well done");
else if (grade=='C' || grade=="¢")

. printf("\n Poor performance Y
else

prmtf("\n Invalid Letter");
getch();
}
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int n, sum=0;
for {(n=1; n<=10; n+=2)

¢ sum=sum-+n;
- prinif("%d ", n) |
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(3+5) -r__l»u’ "L flogtc ¢ simplified expressionssik
Sk Sl x+x2 %7 . x rdb’ﬁ{u:‘forufu)u"‘?‘u(nfcj_.z_/_/_fuxul r*g”sum&//'fd: Ml
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Time allowed: 20 Minutes

COMPUTER SCIENCE SSC-lI
SECTION — A (Marks 12)

(Old Syllabus)

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itseif.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the eorrect option i.e. A/ B/ C/D. Each part carries one mark.

)

(i)

(i)

(iv)

{viif)

(ix)

(xi)

{xii)

A+{A.B)=
A B B. A C. A+ B D. 1
Binary number (10111100101), is equal to in Octal number system:
A (7245), B. (4725), C. (2745), D (5274),
instructions are descriptive because programmer can inform computer about things such as

types of data,
A. Control B. Logical C. Vo D. Specification
An OR operation has 4 variables. The possible number of combinations in the truth table are:
A 32 B. 18 c. 8 D. 4
When you press ENTER key the output of PRINT “37 C=" 37*9/5+32 is:
A 37 C=986 B. 37 C=303.4 C. 37C=766 . D 98.6
The number of elements assigned automatically to a two dimensional array in BASIC are:
A 10 B. 100 C. 110 D. 121
The output of the following program is:

10 LET X=17

20 IF (X<3) OR (X>18) THEN PRINT “Yes",

30 PRINT “NO”

40 END
A Yes B. No C. Yes No D. None of these
In which flowchart symbol, the statement “Is A>B and B>C’ is placed in:
A, Rectangular  B. Parallelogram C. Diamond D. Oval
The color of code 2 belonging to Palette 1 is:
A Cyan B. White C. Magenta D. Red
The statement to reserve memory locations for an Array M arranged in 12 columns and 20 rows may be:
Al DIM (12,20) B. DM M (12, 20) C. DIM (240) D. DIM M (20, 12)
On execution of PRINT FIX (-6.83) the output will be:
A & B. 683 c. -8 D. -7
Name the error type that exists in the formula X=P/Q where the value of Q=0
A Logical B. Execution C. Syntax D. Syntax and Execution

For Examiner’s use only:

Total Marks: ' 12

Marks Obtained:
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10 LET X=17
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Time allowed: 2:40 Hours

COMPUTER SCIENCE SSC-li (/f p
(Oid Syllab‘us)
| ~ Total Marks Sections B and C: 43

NOTE:

Answer any nine parts from Section ‘B’ and any two questions from Section ‘C’ on the separately

provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

Q.2

Note:

Q.3

SECTION ~ B (Marks 27)

Answer any NINE parts. The answer to each part should not exceed 3 to 4 lines. (9x3=27)

0
(ii)

(i)

(iv)
{v)
{vi)
(vil)
(viii)

{xii)

{xii)

Differentiate between Data and Information.

Simplify the expression using Boolean Rules:

(A+B+C)(4+B +C)(4+B+C){4+B'+C)

Briefly explain Fixed and Floating Point Representation. Also show how binary data is stored in Floating
Point Representation.

Write down the algorithm to find the Area of a Triangle whose sides are a,b,c.

Differentiate between various Modes of Operations in GW-BASIC.

Describe the Screen Modes in GW-BASIC. Explaining Rows and Column division in any two.

Divide (11101010), by (101),

Briefly describe the following commands:

a. RENUM b. CLs c. EDIT

What is the difference between Controlled and Counter Loop?

What is array? Differentiate between 1-Dimensional and 2-Dimensicnal Array.

Your table lamp is in not in working order. Develop a flowchart for Iocating.a trouble in it. The frouble may
be either in the Plug, orin the connecting Wire or Bulb itself may be fused.

What is Sub-program? What is the purpose of GOSUB-RETURN statement?

Write a program that takes a number from the user and prints iis table.

SECTION - C (Marks 16)

Attempt any TWG questions. All questions carry equal marks. (2x8=16)

a.

Write & program for the Square and Cube of any number using INPUT statement. Print the number,
its Square and Cube in Zones. (04)

Define, Truth Table. Draw a Truth Table for the Boolean expression: A'B'C+ A" BC+ AB (04)

Write a program that takes a number from user and prints its Factorial. (05)
What is the purpose and syntax of PSET and DRAW statements? {1.5+1.5}

Translate y=+/16+x* into DEF FNS statement. (02)

Write & program to Fill an array having five elements. (03)
Define Algorithm. Write down the characteristics of a good Algorithm. (03)
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_uteabaidi LF (Algorithm) s g e /g gete

% J/ e L Modes of Operations £ GW-BASIC

2P A Rows S 5 (5 Seronf Screen Modes £GW-BASIC

y (101), / (11101010), J-fﬁﬁ

_g_,j/yl,z:f/ngCommandstgjy

EDIT e CLS —— RENUM —ull

te-JUA =Y Counter.s/Controlled

e J/ U2y Adimensionatss £ e/

e Utk AL Plugi Tl e Skt 2 tFlow Chart flg A AR T
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{04) -1+ Print_#Zones
{04} :J_'}f:«.Truth Table§ Boolean Expressiongi’},,vxf,qfwuuf Truth Table

A'B'C+4" BC+A48

(05) _‘»_.Jlsf.zf',;Factoriai KJJJ:IL/,LQ;.. Userﬁujz&f}lj{uﬁ
(1.5+1.5) 2 F Syntax.sus 6 DRAWSPSET
(02) ~ e ADEF FNSY y =16+ 22

(03) A VaEuesJElementség LAmayzJ. /7 f}’lj{ug
(03) 2 feter? S (igorithm) s i g s S (Algorithm) sl
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